EE-205 : EBlectronicsI EXAMII (052)

Instructor: Dr. Saad Mohammad Al-Shahrani
Name: W Q,;';/__ ID #

Problem #1 (7.5points,
Consider the amplifier circuit shown below, Rsig =500Q2, Ry =475Q, and B=

100 (ignore r,).
i Find expressions for Ry, Ry, voltage gain A, = Vo/Vsig. 4 points
il. Design Rgand I to have Rin=25KQ and R,,= 30Q then, 2 points
a. Find the voltage gain v,/vyg. 0.75points

b. Find the maximum swing of v,

(1) without distortion (Hint: based on the most negative current allowed on
R1).0.75points
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Consider the ampllﬁer Cll‘CUlt shown below, ( | éno fe o)

i. Find expressions for R;;, R,y voltage gain A, = vo/vs,g 3.5 points

ii. Given that Vpp=10V, R¢jz =500Q, R =10KQ, V=1V, k' (W/L)=1mA/V}
a.Design resistors Rp and I to have g, =1md and Vp = 6V. 2.5 points
b.Calculate voltage gain vo/vyg 0.5 points
c.Find v, () and vp(?) for v,,(2)=0.2sin100t. 1 points
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